Chapter 1:


1. What is the main focus of the study of organisational behaviour? 

Answer:

OB focuses on individual, group and team behaviour, the process of management, organisational design and structure, and the interaction between the organisation as a system and the environment. The purpose is to bring about change in the organisation and to ensure optimal performance (effectiveness and efficiency) and satisfaction. 

2. Which behavioural science disciplines contribute to OB? 

Answer:

Psychology, sociology, anthropology, political science, philosophy, economics and engineering. The biggest contribution comes from psychology (with the focus on individual behaviour in small groups), sociology (the study of social behaviour, relationships between social groups and societies) and anthropology (the study of culture and diversity). 

3. In your own words, describe the main differences between a mechanistic and an organic organisational design.

Answer:

A mechanistic culture is more bureaucratic, is characterised by rules, and is tightly controlled.

An organic organisation is flexible and adaptable, and promotes self-management and networks. 

4. What can be done to reduce the negatives of a matrix organisational structure?

Answer:

The negatives of such a structure include a lack of clear lines of authority, role conflict and role ambiguity. There is less opportunity for advancement, and it is difficult to highlight individual contributions.

To overcome these problems creative solutions are required. These include good planning and communication so that members of a project team will understand who will lead the team, what the objectives are and what is expected of individuals and the team. Performance management should make provision for the recognition of individual and team efforts. While there is less opportunity for promotion, it does provide an environment in which people can be involved in different projects and become multiskilled. Members of project teams are usually highly skilled, and should have the freedom to make decisions. 

5. How would you respond to the following statement: “Knowledge management is about having state-of-the-art technology”?

Answer: 

This is not true. Knowledge management is about creating, sharing, distributing and using the tacit knowledge of employees to enhance innovation and creativity in the organisation. Information technology is merely a tool that is used to distribute and share information. Organisations may have the most advanced technology available, but if the information stored in these systems is not actively used to respond more effectively to customers, it is not worthwhile. Organisations need to tap into the tacit knowledge of employees and create a mindful organisation, one that is alive with creativity and ideas. 


6. Why is ethics important in organisations?

Answer:

· It affects an organisation’s reputation.

· An organisation with a good reputation attracts more customers and retains existing ones.

· Poor ethics has legal implications.

· Professional and skilled people want to work for reputable companies.

· Organisations compete on a global basis and need to meet international standards.

7. List some of the environmental changes that organisations in South Africa have been exposed to in the last few years.

Answer

· Economic crisis (retrenchment, amalgamations, restructuring)

· Environmental issues and a demand for environmentally friendly products and processes

· National Credit Act

· Changing tax laws

· Technology (direct input from customers, social networking)

· Constant changing customer needs and preferences

8. In Chapter 1, we have discussed the changing role of the 21st century manager. If different behaviours, competencies and skills are required of 21st century managers, what is required of 21st century employees? Discuss the characteristics and behaviours required of the modern-day employee.

Answer

The modern-day employee is required to participate actively in the organisation. The person is therefore more informed, knowledgeable and creative. The following are expected of employees:

· to work well in teams

· lifelong learning

· should perceive work as a central life interest

· should be multiskilled

· add value and deliver results

· have interpersonal skills, including an appreciation of diversity

· should participate and collaborate

· display ethical behaviour

· share knowledge

· adapt to change

9. Has modern technology hampered or enhanced relationship building between people inside the organisation? 

Answer:

One way of answering this question is to refer to the concept of knowledge management and the impact of modern technology on relationships, via knowledge management.

Knowledge management is essentially the gathering and structuring of raw data in such a way that they are transformed into useful and timely information, which is then distributed to relevant users with the minimum delay at a minimum cost. 

From an organisational or general viewpoint, one of the biggest problems in knowledge management is the dissemination of the wealth of knowledge buried in the minds of employees. Knowledge in an organisation needs to be shared and to become part of the collective organisational memory. Learning creates new perceptions, and perceptions have a powerful influence on behaviour. 

Information technology provides various media through which information can be distributed and accessed. These include corporate intranets, extranets, Internet, video-conferencing, collaborative computing, voice mail, email and voice conferencing. An enterprise portal serves as a personal interface or doorway into various activities, processes and information relating to the organisation, its customers, suppliers and business partners. 

Implementing a knowledge management system should not be confused with the management of knowledge. Establishing an impressive information technology system does not add value unless people translate the information into intelligible action. Organisations have to create a culture that encourages people to put knowledge into action. Knowledge in action implies innovation and change. At the same time, organisational members should think divergently and proactively. 

To summarise, the way that technology is used will enhance relationships or result in their deterioration.
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